What other construction is also completed What is the value of x if m£ZLPM is 3x - 9?
when constructing an square inscribed in

acircle? )\ Pe,qprico‘&r bisector

N .
o mZLPM=180-117=63
(8 2x-9 =63
M x 71

If the length of an arc created in a circle that is

broken into 4 equal parts is 241, what is the

radius of the circle?
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Prove that POQ is congruent to NOM

using a two-column proof.
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When the angle of elevation to
the sun is 32°, a tree casts a
shadow that is 75 feet long.
What is the height of the tree to
the nearest foot?

J(&n (EEL) ‘—5‘;_5
X=75 tan(3d)
X= H6.87 K.

31.
5t

A circle has a radius formed by two points, the
center at (7,6) and a point on the circle (-1,6).
Write an equation for the circle.

0=\(7 - (6-6)"

4= Cy +o
0=3
=%

(x-7)*+(y-9 =8

Find the length of u.
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Finish the following proof.

Given: ZMNP=£OPN, and MN=0P

0
N

M

Prove: MP=N0O

Statements |_Reasons

1.L FWF ZLOPN

What is the probability that a person chose

vanilla given that they were a child?

What flavor of ice cream would you pick?

Chocolate Vanilla Neither
Children 40 22 15 i
Teens 12 16 45
Adults 55 54 10
Total 92 70

PNO=5=5

2

GO,

18

Find the following

Je =420 ¢ 18}

K= $4,2,1,7,53
JUK={n,¢,75Y32,1}

What is the probability that a male would be
chosen given that it is a dog?

Dog

Cat

Total

Male

42

10

2 P(W‘l 6): Sﬂ%: l%

Female

9

39

48

Total

51

49

100

9
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Comple the following proof

Given: GR=RT, 2G=«K, and CI=R]

N

A

Prove: HI=L]

atemen Reasons
1. GH=K 1. Given
2.L62L 2. Given
3.G1=K] 3.Grenr
4. AGHCZAKLT | 4.5AS
5. Hi=Lj 5.CpCTC

What is the sin(47) equal to?

Sin(4?)= 0.73

(ANB) U (ANB)
518,11 14,1673
418,11, 4,167}

Find the volume of the following figure.
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cm
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=(C%M = 2|,03C.10cm?
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- Whatis the scale factor it Ejl| jn the missing lines of this proof
: - DEF is dilated to ABC? 9 P )
1 ‘.A\-( I '4 __,\‘ = -‘- Given: {isparallel to me 13 4 ¢
EEEEEEY LY UEEEMY =g -
EEEEEN RN Prove: £2x /7 s
Statements Reasons
1. (isparallel to~ | 1. Given
2. L2246 2. COFCE.S%né'\nO, L\S PQS+«
3. L6147 3. Vertical angles are &
Find the value of x, if m£ZABC = 62 and a4y =47 4. Transitive property of =
m/AZC =5x + 7
B Z 5y+7

What sequence of transformations would

Bx+7= (2 C map ABCD onto HIJK?
SX = 55 !_,‘. ~
x=1l 4 i o T
J | 4l
SAWE A=)
. KA
Find the value of x. SRR
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ind the sector area of the shaded region.
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X=5

What is the equation of line

perpendicular to the line y-3x = 1:

and passes through point (4, 19)7

N3k =1 m= % (4,19)
V=34 4§ (X-H)
wm=3 ¥-19 = -_:]SY +%

\= -1 X €l
The probability 03f a New York teenager owning a skateboard
is 0.37, of owning a bicycle is 0.81 and of owning both is 0.36.
If a New York teenager is chosen at random, what is the
probability that the teenager owns a skateboard or a bicycle?
P(s)= 037 pPCe)=o4l P(SansB)= 03¢
Plsod) = PCS) + PR —P(SamB) = 037 +6.51 —036 = 0.8



Match each term with its definition. _ _
TA part of a line that starts at an endpoint and Point A(-3,2) was transformed by a reflection

‘P—' 1. Angle extends forever in one direction. over the x axis, then b}’ (X+2, y—5) What are

. . n
LZ' Line segment b. A specific location in space, often represented the new coordinates?

é L .
_c; 3. Ray prade Reflection aver - axis
. 4. Line @A straight line which links two points without
extending beyond them. A] ("SJ")')
7A straight pathway that is endless in both -trw\siﬁh“\
directions, has no thickness, and is comprised of "
points. | ﬂ [ -1 }'?)

P(a Ciage Formed by o raye with o
Cm::ém Q.t\b?o'm"' \'Uk“’-& m‘isilu‘kx.

Find the volume of the composite figure. _
Why are the two triangles congruent?
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Find the area of the following square.
What is the coordinate of the point that split:

segment with end points, (5, 4) and (10,14)
ratio of 3:27? 4 : 0\1+bl: c*
° I 2 )
() = 3éio)+1(5) 3(W420y) Q)\q’ L o24a® = Gos)
5 5 1' I 2:11 - 7‘1
(X})‘:(%jlb) G ar = 36

. Q- 6
A: (;'Q :SQ)

What is the next step in constructing a square in a circle
1. Mark a point anywhere on the circle and label it point A. A

2. Using a straightedge, draw a diameter from point A. y
Label the other endpoint of the diameter as point C.
This is diameter AC.

3. Construct a perpendicular bisector of AC through the
center of circle O. Label the points where it intersects the
circle as point B and point D.
4.Y5¢ o sheoignt ebge Yo wmec ABCD Yo
- J
creal® o7 sqiase.




